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Introduction
[bookmark: _Hlk58595024]In this contribution, we provide our views on the remaining aspects for UL Tx switching for multi-carrier enhancements in NR Rel-18 following the agreements after RAN1#114bis [1].
Discussion
For UL Tx switching, one remaining issue is related to the UL Tx switching case of  A(1Tx) + B(1Tx) -> C(1Tx) + D(1Tx) when it is triggered by two DCIs. It needs to be discussed under what conditions this can be considered as single switching instance or two switching instances, for example first DCI triggering A+B->C and the second DCI triggering A+B->D. In our view, this should be specified to avoid any ambiguity between the network and the UE because the switching gap durations might be different considering which of the two scenarios is assumed. In our view, the baseline condition should be that at least the UE is able perform the switching simultaneously in a single switching period location (based on the two triggers), i.e. no two different switching period location should be required by UE to perform switching, otherwise, UE determines these two triggers of UL Tx switching as two different UL Tx switching instances. One example scenario is illustrated in Figure 1.
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Figure 1: Illustration of switching case A+B->C+D triggered by two DCIs

Proposal 1: For UL Tx switching case A(1Tx) + B(1Tx) ->  C(1Tx) + D(1Tx) triggered by two DCIs, the baseline requirements should be that the UE is able perform the switching simultaneously in a single switching period location (based on the two triggers), i.e. no two different switching period location should be required by UE to perform switching, otherwise, UE determines these two triggers of UL Tx switching as two different UL Tx switching instances

Furthermore, to ensure that the baseline condition is met, one possibility in terms of triggering timeline can be considered. The possibility could be specified in terms of when the second DCI triggering the UL Tx switching is received by the UE. Essentially, the end of second DCI triggering the UL Tx switching should be received by UE no later than T0 – max{Toffset1, Toffset2}, where T0 is the earlier point in time between T01 and T02, as illustrated in Figure 2. Otherwise, UE might already start the switching process for the first UL Tx switching trigger and therefore, the second trigger then needs to be considered as separate switching instance.
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Figure 2: Illustration of switching case A+B->C+D triggered by two DCIs with unified timeline

Proposal 2: For NR Rel-18 UL Tx switching, for the switching case A(1Tx) + B(1Tx) ->  C(1Tx) + D(1Tx) triggered by two DCIs, the end of second DCI triggering the UL Tx switching should be received by UE no later than T0 – max{Toffset1, Toffset2}, where T0 is the earlier point in time between T01 and T02

Conclusion
In this contribution, we have discussed our views on remaining issues for UL Tx switching in NR Rel-18:
Proposal 1: For UL Tx switching case A(1Tx) + B(1Tx) ->  C(1Tx) + D(1Tx) triggered by two DCIs, the baseline requirements should be that the UE is able perform the switching simultaneously in a single switching period location (based on the two triggers), i.e. no two different switching period location should be required by UE to perform switching, otherwise, UE determines these two triggers of UL Tx switching as two different UL Tx switching instances
Proposal 2: For NR Rel-18 UL Tx switching, for the switching case A(1Tx) + B(1Tx) ->  C(1Tx) + D(1Tx) triggered by two DCIs, the end of second DCI triggering the UL Tx switching should be received by UE no later than T0 – max{Toffset1, Toffset2}, where T0 is the earlier point in time between T01 and T02
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